Factoring Polynomials 2
Factor the Following Polynomials Completely

1) x2 — 4x 19) x2 —10x + 25
2) x2 —5x + 6 20) x2 —6x — 7

3 x? +12x + 36 21y 2x% + 8

»  x2-4 ) x? -8l

5 X2 +4x + 4 23)  x% —14x + 49
6) x> —4x-5 24) X% + 6xy + 9y?
7 x2+4 25y x% + 36

8 x2 —8x +16 26) X% + X

9  9x? —4 27y 81x? — 36

100 x> +4x+5 28)  x% — 30

1y x> +9x 29)  x% —22xy + 121y?
12) x> -100 300 x2 —12x — 28
13) x> +19x + 48 31)  x2 —5x — 48
14 9x% + 4 ) x* -y’

15 X2 +6x+9 33) X2 + 4x?

16)  x% —25x 34 x? —x

17y 4x% + 4x + 1 35y x2 + 16x + 64

18) x2 —x—16 36) 25— x2
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x2 + 4x

x2 —5x — 6
x> +8x +16
x% - 25
x% + 25

x2 —4x + 4
x% - 9x

x? —10x + 16
25x% — 4

x% +4x =2
x% +3x + 2
25x2 - 100
x? —19x + 48
4x%2 + 9

x2 + 6X + 9x

x% — 25x
x2 —2x — 8
x2 +x -15
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Factoring Polynomials 3
Factor the Following Polynomials Completely

x? —10x + 25
X% +6x — 7
2x% - 8
x? — 81

x? = 20x + 100

x? +x

x? +1
X% + 6xy + 9y2

4x2 - 36

xZ - 20

x? — 22xy + 121y?

xZ —12x — 28

x% + 8x — 48

xZ —16x + 64

9 — x2
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Factoring Polynomials - Summary 1
Factor the Following Polynomials Completely

x° —4x
x2 +5x -6
x? +6x+9
x* - 36
x* +4

X +2x2 +3x+6

x° + 9x

x2 —1lx —12

16x% — 25

x2y — 5xy — 24y

x> —9x + 16

25x% =100

13)

14)

15)

16)

17)

18)

19)

20)

21)

22)
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24)

x* —10x% + 25
x? + 6xy — 7y?
X+ 2x> —4x -8

x* - 81

3x2 +13x + 4

x°+x

—x? —2x + 8
6x% — Tx + 2
4x* — 64

X+ 2x2 +x+2

x* +16y°

(x+3)2 —y?



Factoring Polynomials 2 - KEY
1) X2—4XZX(X—4) 19) X2—10x+25=(X—5)2

2) x2—5x+6=(x—2)(x—3) 20) x2—6x—7=(x—7)(x+1)

3 x2412x+36= (x +6) 267 +8=2(x? + 4)
4 x*-4=(x-2)(x+2) 22) x*-81=(x+9)(x-9)
S xPadx+4=(x+2) 23)  x2-lax+49= (x - 7)

6) X2—4X—5=(X—5)(X+1) 24) )(2+6xy+9y2=(X-l-3y)2

77  x?>+4 does not factor 25)  x2 +36 does not factor

8) x2—8x+16:(x—4)2 26) X2+X=X(X+1)

9  9x?-4=(3x+2)(3x-2) 27)  81x* —=36=9(3x +2)(3x - 2)
10) x> +4x +5 does not factor 28)  x2-30 does not factor

1y x2+9%x=x(x+9) 29) )(2—22xy+121y2:(x—lly)2

12) x*-100=(x+10)(x—-10) 36 x*-12x-28=(x-14)(x +2)

13) x2+19x+48:(x+3)(x+16) 31)  x? -5x —48 does not factor

149y 9x%> +4 does not factor 32) XX -yr=(x+y)(x-y)
15) X2+6X+9=(X+3)2 33)  x2 +4x2= 5x2

16) x?-25x=x(x —25) ) x?-x=x(x-1)

1) 4x? 4 ax 1= (2x +1) 35 x24+16x +64= (x +8)

18) x> -x-16 does not factor 36) 25—x2:(5—x)(5+x)
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Factoring Polynomials 3 -

x? +4x = x(x +4)
x2-5x—-6=(x-6)(x+1)
X2+8X+16=(X+4)2

x? =25 =(x-5)(x+5)
x% + 25 Does Not Factor
x?—dx+4=(x-2)

x? —9x = x(x-9)

x? —10x +16 = (x = 2)(x - 8)
25x% —4 = (5x +2)(5x - 2)
x% + 4x — 2 Does Not Factor
x2+3x +2=(x+1)(x+2)
25x% - 100 = 25(x +2)(x - 2)
x> —19x +48 = (x =3)(x - 16)
4x% + 9 Does Not Factor

x? +6x +9x = x(x +15)

x? —25x = x(x - 25)

x? —2x -8 =(x+2)(x-4)

2

x“ + X — 15 Does Not Factor
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30)
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KEY

x> —10x +25 = (x = 5)°
x2+6x—7=(x+7)(x-1)
2x* -8 =2(x+2)(x-2)
x? —81=(x+9)(x-9)

x> —20x +100 = (x —10)’
x2 +x =x(x+1)

x% +1 Does Not Factor

x? + 6xy + 9y = (x +3y)2
4x* =36 = 4(x +3)(x - 3)
x? — 20 Does Not Factor

x2 = 22xy + 121y = (x — 11y )’
x> —12x =28 = (x +2)(x - 14)
x* +8x —48 = (x —4)(x +12)
X -yt = (x-y)(x+y)
4x — 2x* = -2x(x - 2)

x>+ x :x(x2+1)

x> —16x + 64 = (x —8)°

9—X2=(3—X)(3+X)
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Factoring Polynomials - Summary 1 - KEY
Factor the Following Polynomials Completely

x? — 4x = x(x — 4)

¥ +5x—6=(x—-1(x+6)

¥ +6x+9=(x+3)?

x? =36 = (x — 6)(x + 6)

x“ +4 Does Not Factor

X +2x2 +3x+6

= (x + 2)(x* +3)

x? 4+ 9x = x(x + 9)

x2 - 1lx —12=(x-12)(x + 1)

16x2 — 25 = (4x — 5)(4x + 5)

x2y = 5xy — 24y = y(x — 8)(x + 3)

x> —9x + 16 Does Not Factor

25x2 =100 = 25(x — 2)(x + 2)

13)

14)

15)

16)

17)

18)

19)

20)

21)

22)

23)

24)

x* —10x% + 25 = (x2 - 5)2

x2 4+ 6xy —7y? = (x — p)(x + 7)

x4+ 2x% —4x — 8

= (x +2)%*(x - 2)

¥t —81=(x+3)(x-3)x*+9)

3x2 +13x +4 = Bx + D(x + 4)

¥+ x=x(x+1)

—x? = 2x+8=—1(x = 2)(x + 4)
6x> —Tx +2=0CBx -2)2x - 1)
4x? — 64 = 4(x — 4)(x + 4)

X +2x7 x4+ 2= (x+2)(x*+1)

x* +16y*> Does Not Factor

(x+3)2—y2
=(x+3 —-y»)(x+3 +y)
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